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SECTION - It
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Each language consiats of 30 questions. The candidate has to answer the questions of
First Language Hindi compulsorily. Out of the other two languages. the candidate has
o answer any one — gither English or Urdu as Second Language, chosen by him /
her in the Application Farm, Total number of Language questions (o be answered by
the candidate is 80.
rumquummumumuhmhmmm
Sheet starting from 31 to 60,
m&mduﬂmmhﬂ-ﬂmmwhmuhmmm
Sheet starting from 61 to 90,
Fersts e - 7w wm 5 st 36 v, s v o 30w 2 1 el w e v frt &
W T S w5 D wme — s waw = 1 8 5l v o
M F T A T v e e ) st F) v F F9 60 vl FTmdm
mmtwﬂﬁmﬁﬂﬂmmmmismwmmmt I

fﬁhmtﬂtgaﬂﬁﬂmmmmﬁmﬂmmﬁhmh
um. o
wuw vy - fdt ( P )
A F 309 B | Wit v e §
HERH'" v = g

W ey B s

) e ) fawEm
Frefefan e = swm wmmy -

i

A e B =

c)  wvumg D e
v e s @

T A T e e b

W fre B W

I wEm o fFmo




UPTET{Teacher Eligibility Testjﬂﬁwm?m:ﬁg HYu

35.

36,

37.

a39.

40,

Fererfefian ol & frm-Feden o o w-m & 7
V- i ]
() Tl - ww W R

Fr=rfafam F dree o= g

A

i)

‘wey frn dfu s = 7

Y]

{C)

‘T w1 AEH IS wm

5]

A

iy

i F ATE o =Y % wEa s

)
ic)

= wEtEart wes g -

Al

Ic

oren

M

= |ty
o = afty

HHT

aifa

AT .

#egf
Tl

Formee
oy

(13)

L=}

D}

=)

B

i

B)

1]

)

(B)

(o)

T FE HEL
T TR e Wi |

ot = |

o w= T afa

g |



http://www.recruitment.guru/

UPTET{Teacher Eligibility Testﬂlﬁwm?m:ﬁﬂ HYu

41. =W F Firom wEE srpal o v
IIAE A H W =
W = wTE (B] &7 FEE
(C) WAER W D) = wTw
42. ‘g¥Ean’ W A d Fwm E 7

)  FE W= B)  drreg e

© M v ) sk wee |
43. ‘mrwmmer

G R U] B weEs =

© fadei W= D) T W= |
44, 'z’ = fasm = -

(A} - s (B ammrem

€ s o) s
45. Tt o= =1 29af 9fm@

SEHTEY

W e B T

@ = D =\
46. Frevfafen wel & 2 o frwedl F aeam W W w9 wife

A wEm B) W

c) = m o |

47. Tre=fafen ol § ¥ g =g gfe -
(A wurd Hvrue w5 o e B WM o
B T s w5 faae e o #
(C) Tt Hrurgsadt w=n =1 faaw 3 W oot B
D) ol AgEEt I Rt fEaE R w o




UPTET{Teacher Eligibility Testwwm?m:ﬁg HYu

48.

49,

50.

51.

52,

53.

Freffion e w1 affu-fasdy o g 7

EET
W v e SEE B w1+ FEd
<) W+ &84 (D) g+ e |

freiferfon s 4 9§ 1% =9 9 ;

) wEl mel 9Em FEgEeel F fam o osa=m owEew B
(B) wEi el 9% FEgas] w1 e W = =s T
() =i wel TEgae =1 vien = e w= b

(D} TR wel SEgEel w1 fasn W st weew ¥ )
“ua’ w1 yaiaerdt S ows T € wa g

) T= (B) -]

[y wEEE (o) =rem
‘=it - wEE 2

w EgEfy B E=

© fe (D) oGS |

‘et = St v et #

Ay e LE L Gl
[C) =N o)  gfem
Frefafea 9 4 w5-m = ‘woa’ w1 gaiyEre = qEl & 2
(VI e (B) e

) wies (D) deEm o




UPTET{Teacher Eligibility Testwwm?m:ﬁg HYu

S4.

B5.

56.

57.

58.

59,

80,

“Foret T we d@red a9 % ey uw e e

W Fwm e (B)  wegegsmiy
C) g (D) gEed
‘o’ a1 wfw-frsds

B PR | Frewm
(© e mqm ) o+
A ¥ sTrER Y we W Wit

U S B it
C)  gwE D) gorg
‘hmmﬂzﬁgmﬂ',mfﬂ!w“.ﬂmﬂm=
A = ®\ fg=

IC)  smm D w=wea
aﬁﬂ?mmaﬂmmﬁﬁﬂ:

Al IEFERR B) =
(C] I 1] = |
Frafafem e =1 wrog wemsw .

AT

U (= I 4

(C) e (D) =
wigw ¥ | firg

I A5 F FAF TN -

W) TR W B) = wrw

© AN Th ) Eoail Are




UPTET{Teacher Eligibility Testﬂlﬁwm?m:ﬁﬂ HYu

61.

62.

65.

SECTION - II
Second Language — ENGLISH
There are 30 questions in all in this Section.
All questions are compulsory.

Choose the sentence where the comma Is placed correctly :

{A) Yes the play was, fun.

(Bl Noldidn't, go backstage.

(C] Well, the ending did surprise me.

(D} No Mchan, was the lead actor.

Choose the option which gives the correct abbreviation :

A Janu. 12, 1965 (B] Laxmi Paper Comp.
(C) Satur., May 19 D] North St

Choose the correct spelling :

&) calendar B) celender

) ealandar (D} calander.

Choose the correct spelling :

(a) preveledge B previlege

iC) privilege (D) priviledge.

What does the phrase ‘cream of the crop” mean Vs

{4  putting cream in coffee @ the worst of a group
{C) lcing a cake () the best of a group.
The word pair — discrete and discreet — are called

(&)  homonym (8] homophone

IC}] synonym D antonym.
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67.

G,

69,

T0.

71,

Choose the noun form of the given word :

strong
W strongly (B) strongness
iC) strength D} strengthen.

Choose the noun form of the given word :

grave
1) gravely [B] gravenecss
IC)  gravel D) gravity.

A very brief pause in a sentence Is marked by using a/fan

A} semicolon B) comma

(C) apostrophe (D) period.
In the given sentence identify the gerund :

Jogging 1s a good exercise.

(&) jogeing B is

Cl  good D) exerciae,
Identify the type of word that is underlined In the given sentence :
All the prople cheered.

(A  mnoun (B)] pronoun
[C] adjective [} werb.
Identify the type of word that 18 underlined in the given sentence :
It's sheer rubbish.

(Al noun (Bl pronoun
IC} adjective (D) wverb.
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73. Choose the singular form of the given word :

gulfs
W engulf B gulp
IC] gulf (D) golf.

74. Choose the rorreet sentence :
[ OF water Lake this glass (B Take glass of this water
IC)  Take this glass of water () Take this water of glass,
75, Choose the word that is spelt incorrectly :
Al dulcet (B convulse

iC}  principal D)  negetive.

76. Choose the word that s spelt correctly

Ay  difine (B] maime

(€] perfidy (D)  ingrace.
T7. This movie I8 ...........c.coeeeeee... than the last one.

A best (B) good

(C] better D) worst.

78. Ravi wasn't thinking ..................eee... .
& clear (B unclear
fC)  clearly D]  unclearly.

79. Choose the part where there is an error in the given sentence :

I went to the library to get as many information as [ could
(A [i]] i (1]
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80. Choose the sentence that is correct with respect to punctuation and capitalization |

81.

82.

83.

A

B)

L]

o)

how glad we were to see Aunt Rekha 1
She was visiting us for sumrmer.
Had she missed us,

we welcomed her into our home ?

Which statement {s correct 9

Statement | ; We considered the matter farther.

Statement Il : We considered the matter furiher,

i
(B)
[c)

v

Both [ and I
Omly |
Only 11

Neither [ nor 11,

What is the past participle of ‘ride’ 7

),

<)

ride LE]

rides (D)

What Is the simple present of ‘grew” ?

W grow (B

(€} grown (o)

Choose the adverb from the following

Y

()

walk (IE]}

good )

rode

ridden.

growth

Erows,

badly

fast.
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85.

B&.

87.

88.

89,

Choose the adverb from the Ioﬁl:.w\dng H

(& hardly (B

iC) harder [n]]

Identify the type of verb in the given sentence :

He slept,
(4  transitive verb (B
(C)  regular verb (o]

Choose the superlative form of ‘fast’ :

A) fast (Bl
C) fastest )]
If the superlative is least, then the positive is
4 least B
i) little (D)
What is the comparative form of ‘bad” ?

A bad B)

C)  better (D)
Fill in the blank :

sassasasrsesisaanianass time has already been wasted.

(A} Few (=]

€] Much o)

OR / 3e=n

hard

Intransitive verb

trregular verb.

faster

fastly.

less

lesser.

worse

wiorst.

All of these,




UPTET{Teacher Eligibility Testmmmmmmﬂg HYu

B = ol
2 = 3
~FL &z 30 £_in
~HdaAoin Ll U F
-LBFL U e
e (B) S AT
t5ke (D) I:f..;.:-,‘f (c)
~e L iz L # 6
b (B tE (A
L (D) We r (0
LS ‘:75}." 63
=/ (B uEf )
/(D) vES  (C)
LTINS T 64
LT (B) =i (A
=FLi (D) T
U Ve by ST @G".};ﬁ}’:ﬁ!ﬂ'z?bﬂ LIns” es
4 (B) a4
+ D) 23 (©




UPTET{Teacher Eligibility Testmmmmrmﬁg HYu

_LeBiad o

— (B S oW
Ul (D) +._'5L1-"' (©)
L eI B

S B) 1P (A
=k? (D) uz? (©
?h,;r;!.'g,,r_i,;ﬂwm;af‘—.&u’-

Srezd®  (B) it (A)
JEA (D) S (©)
ot UG i AL sk

- (B) 2 (A)

4 © 5 ©

L WV e Pa uliP Lk LRSI

{Peculiarty word) Lﬁ‘?_h; (B) (Interiection word) Z@57  (A)
Sty D) (Preposition word) k37 (C)

et Yalitne iy

UL e2ls (B) Ji rsbi (A)

&k 2l (D) F ki ¥

66

&T

68

A

71



UPTET{Teacher Eligibility Testwwm?m:ﬁg HYu

- gf;f.;-_ésafﬁul-?rﬂﬂ'ﬁ

wly  (B) & W
B (D) B ()
ST P S e L SE

9 (B) & (A)

4 (D) 2 (Q)

e b VR

ST (B) S @)
L~vid (D) = (C)

-u:fﬁ'tf:'r:- TEsraeae”

tf:isﬁ_g. (B) s Jrji' {A)
t/ e (D) LB (O

C Ve 1z ket Ssz

e (B) =3¢ (A)
<77 (D) AT ()
St 2 Ve ie Jr6H L LR

-7 (B) oA

S o S

T2

F3

74

g

76

TT



UPTET(Teacher Eligibility TestISMENGISAGN epEmexh g U U

PSRN -8 ST

g6 (B) 47 A
st (D) (e}
S Bar¥ d‘l

$ @ S
%> (D) Lk (C)
LRt

L (B) £ (A)
Sty D) orT (©)
et L BB U Tl AL bz e e gl S B
T (B oAy

“ (D) el
St e i PSSR b

& ® - (A
</ (D) = (C)
e YBIETE K G

¢  (B) ré A
£ (o) = (©)

79

.BO

81

.82

B3



UPTET(Teacher Eligibility TestISMENGISAGN epEmexh g U U

faUe

P

¢!

P 3
L ]

Sl

(B)

(D)

B)

o)

B)

(D)

(B)

)

B)

(D)

(B)
(D

(B)

(D)

'1".‘; i..-g'-_,Lr"‘ [Conjection) hW-jFL;ﬁ

LT .
S

it ()
Ll U
Jie (A

= (C)

JA)

sl C)
L s
WY

Ser ()

V.- ey
LS SN
A% (©

e VBIGAE "
=3 (a4

s (C)

L T

BS

86

87

28

.89




UPTET{Teacher Eligibility Testﬂlﬁwm?m:ﬁ.ﬂ HYu

al.

a2.

3.

SPECIAL INSTRUCTION FOR SECTION III
In Section-lll there are two sub-zecttons N1 (a) and W1 (b), Section-11T (a) consists of
B0 questions in Mathematics and Science, Section-[1i{b) consists of 60 questions in
Social Studies. The candidate has to answer either 1l{a) or 1ll{b) as chosen by him /
her in his / her Application Ferm. For questions of Sectlon-111, candidate has to mark
all the answers in the OMR Answer Sheet from 91 to 150.

W - % fid fave e
WP - 10 ) I I () R I (b) E WM . [ (a) f TFE R frA ¥ 80 we ¥ o
oMo~ I () ¥ wenfew wsmem & G0 ww ¥ apnamdl 9 fElt ww - I (a) ®EED
1l (b) 1 I A9} 3T 97 F AR FA X 19T - [0 F T i el wowd e OMR
THEEAL] K 150 mrfafmmwmd
SECTION - IIT[a) / 77 - I{a)
MATHS AND SCIENCE . Tiftre & famm
There are 60 questions in all in this Section. All questions are compulsory,
W i % g0 § | adum s F

The bright, attractive part of a flower is

A corolla (B sepals
iC) petals (D} pedicel.
TR ¥ wEEE a e s b

W T B) =g T
I == D=7 |
Cholera 18 causad by

() bacteria B virus

IC]  insect D} toxn,
wtero v #

(EVIE e e il [B) 9E T
() wR g D) e g o
Eggs are a rich source of

(A fibres iB] protein
[C) carbohydrate M fat.
dramm e f

(W gl W ® T¥w

i) =iz = D] & &
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a85.

96.

a7.

a8,

29,

Jute fibre is obtained from which part of the plant ?

iA) Leaf (B) Flower
i) Stem (¥ Root.
MEF A Edag e am 2

A = By =

) T m w580
Rice and wheat can be termed as

A) pulses B cereals
([C} vegetables D) fruits.

e ww E w wive fea o &

Al T FETH B e & wg o
(C) wfegf & vy o D) waEtFE=gH
Plants that produce their own food are called

(A autotrophs (B) heterotrophs
[C) saprophytes (D) parasites.
8 S s m = wwe € weema €

A sTEETE | TR

(C) HreE= D) #rEEe
Flowering plants that bear flowers, fruits and seeds are called
A cryplogams (B) flerns

) EYMNosperms D) anglosperms.
TE, W A9 W a4 w1 wS w1 g o weey #

) feErite B) =

[ T e D) fererst
Which of the following is a dicotyledon 7

A) Crass Bl Mango

(] Maize (D All of these,
e ¥ & gt s £ 7

A) =g B =m

) ==y (D) 57 | weft
Single-celled animals are classified as

A) arthropods B] mammals

) prolozoans D molluscs.
TFE e Wi ) e foem w2

(A) - swhirE ¥ ey H B] wfE & =g
(C) wrdrsitama & v D] wemes ey g
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100.

101.

102.

103,

104,

105.

The roots of a banyan tree are

(&)  climbing roots (B}  stilt roots

() breathing roots (D adventitious roots.
e o e F ey 8

A it | B) ==Y YA

(C) o HE D) FTEfT g 0
Water that is absolutely pure and free from any impurity 1= known as
A distilled water (B] minecral water
{C)  spring waler () bolled water.
srgfe @ Yol w9 | g% T 3T wE F we W @

A SR e B wfEs W

(Toi I s e B o (D) == e WE |
By which methed is a solute obtained from a solution ?

) Sedimentation B) Decantation
{C)  Filtration (D) Ewvaporation.
fra uzf g0 U feeram @ fodm um fem =0 wom ® 7

(A FHEHEEA B femm

C) Fraa (D) ==

Which of the following is a waler-borne disease 7

[N Diphtheria B} Tetanus

(C] Hepauus @ Malaria.

we At e & 2

)  fewidtm | f===

cy wienfm () HeEfE |
Constituents of quartz are silicon and

(Al oxygen (B sulphur

iC)] nitrogen (D) hydrogen.
TR & waas § fafesis aw:

) FTEETA B TFF

c) =g (D) T

‘The burming of which causes the most air pollution ¥

(A} Coal

(B)] CNG

iC} LFPG (D] Hydrogen.
frgis wer A e wifvs arg agEe g d 2

W e (Bl CNG

{C) LPG (D] TEFEA




UPTET{Teacher Eligibility Testwwm?m:ﬁg HYu

106. Which of the following substances is not miscible with water 7

A Milk (B] Honey
€ Alcchol oy od”
1 2 4 #-m vd v F W g 2 2
A =y B wwg
(C) ewwEw D) %
107. Which is not a reversible change ?
W Water to water vapour (B] Melting of ron
IC}  Burning of kerosene i Cl:lrnde:mau.on of water vapour,
=t ofiad shH-m i & 7
W " E N (B) witer w1 fomeen
[C) fowrmwm = s (D) w9 = T
108. The molecules of which of the following substances contain the same kind of atoms 7
W Oxygen Bl Water
C)  Carbon dioxide D) Sulphur dioxide.
Frer d A form g & St o e v F oy R f 2
W st | =
€ wrs e D] ¥ SHAREES |
109, Which of the following formulae represents a molecule of ozone ?
W o, B o,
© H,0, (D)  None of these.
= & & w1 W s e mim g 2
A o0, B 0,
i H,o0, D) v A ¥ 7= )
110. Which of the following is an alloy 7
& Iron Bl Gold
iC]  Stainless stee] (D) Copper.
Faddsnfmamt 7
L B wW
IC) = wEm o
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111. When a force of 1 N acts perpendicularly on an area of 1 m?, the pressure Is

W 1joule B) 1 pascal

1cl 1 watt D) 1 farad.

1 T 2 drrre W SfwEs w9 8w w0 1 == WA ¥ o 7@ e

w19 B 1 T

o 1= o 1 %EEEa
112. How many ergs are there in 1 joule ?

W 107 B 10°

o 1od o 102

| o A e sl ¥R ¥ 7

[52] o’ m 0¥

101 Dy 103
113. A force applied to a machine Lo do mechanical work is called

{x  load (B} efforl

C  output (D) efficiency.

et e e it W w0 ¥ WY W wEam §

v B waE

i) O =Em |
114. An example of natural magnet Is

(A iron (B steel

i€l lodestone (@) all of these.

grsfs s W TOE §

(TR ] | =

C TEE-T o) vEAaEd
115. mewaark is called

(s}  power (Bl energy

C} mass (M heat.

wrd W = wmed wee

i wf | =

(o) EEEE (D)
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116.

117

119,

120,

“The 51 unit of area is

(€] et wEl gm (D)

cem?

km 2,

o 2

feammt 2,

Length of light waves
Speed of ships,
WeRTE T W T
FETH W =T

magnetic force

electrostatic force.

foure g W= |

thermometer
none of these.

HHIHEZT AT
Hﬁ'ﬁﬁ.ﬂ?ﬁl

maoisture on the surfaces
all of these.

A mm? B)
) m? )
#w e S SIgwE ¥

LV o B
cy #t= m
What does angstirom measure 7

& Quantity of Bquid B
{C)  Length of cables )
dregw = W & 7

N == F )
(C) it =t s (1]
. A comb attracts small pieces of paper due to
(Al frictional force (B)
(C) pgravitavonal force 18]
U Wl F O B2 gwd o ST we o &
W i wtE e B
C) Tesira = o)
Force can be measured using a

(8  spring balance B)
C)  calorimeter (D)
== 1 T W W R

W feim gen % wim g ®
C)  S=rdmir gr o)
Friction can be increased by

(A} applying oil (B)
(C}] rough surfnces my
oo =Y ST W ww

A) S R W =

wEl Wt et g
TE @ adt
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121, The surface area of a cube is 96 cm 2. What 13 the length of its side ?

A 4cm B 5om
&) Bem D} & cm.
e e TR dEEE 96 2R | g v ) e W w7
w4l B SeE
i) & o s
122, The degree of the polynomial 4x* - 8x% 4+ Bxfis
w8 m 5
cy 3 m 2.
AR 4x? - 3x% + Bx O W Wiz Fh
W 6 |\ 5
K 3 2.
123. A stralght line intersecting a circle at two poinis is a
A tangent (B secant
ic)  chord (D) segment.
mvﬂﬁﬁaﬁwﬁzaﬁmmmt
W s B ¥
i ¥ o
124. Iruu-[2.3.-:.s.s}mds.c=3={3,5.?.9|mmtuuwmanyc1cmmummm
mANB?
W o m 1
c 2 m 3.
af, ww A-[a.a.4.E.a}wtrﬁwamls.a.?.gia‘ranﬂﬂﬂmimfﬁ2
W o m 1
i 2 m 3.
1258 The number of elemenls in & set is called
Al ordinal number (B) natural number
iC}  counting number D] cardinal number.
ol mpra § sl W) W wEEA
W wTEE HEn B W dEm
[C) R (O} o HE |
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126. An article marked at Rs. 8.000 s sold for Rs. 7.200, What 15 the discount

percentage 7
AW 10 B 8%
€ 12% D) 11-1%.
fesit =y =1 sifem 479 8.000%0 & foll 7,200% F A A ¥ | g2 e v & 2
W 10% B 8%
€ 12% D) 11-1%.
127. What is the complementary angle of 55° 2
w180 B 80
o 125 o as".
55 % 9E ®m w9 Em 7
A 180 B o0
cy 125 o 35
128. Find the degrees in an angle which is 0-2 time a straighl lne angle.
W 20 B a2z
a6 D) 45",
Tl Fsta w1 W 0.2 70w el s owm om0
W 20 |\ 32
ic  ag D 45,
129. The letter "D’ has ................. lines of symmetry
A one B two
Q) three M none of these,
we D H o i § )
W T B =
i) = D) 719 & % 8

130. A closed wooden box measures externally 20 em long, 14 em wide and 9 cm high, If
the thickness of the wood is 1 cm, find the weight of the box If 1 cm ? of wood

welghs (-5 g.
W 272¢g B 496G g
C) 504g D) 534 g

T ¥ A & F AAfon s 20 B, S 14 900 5 S o At 3 | wfE et
Hrer | A A ) W e W e 0.5 T B, @ W w5 o

) 2727M (B) 49671m
(€} 5047 (D 5347WH |
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131. What is the square root of 28 7

w64 B] 48
© a2 o 16
2fmatgm A E 7
A B4 | 48
Q 32 D) 16.
132. hﬂﬂdismmmlﬂ'ﬂmanﬂﬁﬂmmmm,ﬁtmmhctwemlumﬁmdlengthls
W 3:2 B 3:4
c 4:3 D 2:3.
i & o w80 W oiv Srod 6o & 1 g ww w F F= w1 SwE ¥
N 3:2 m 3:4
© 4:3 o 2:3
133. The angles of a triangle are in the ratio 3 : 7 : 8. Which is the greatest angle ?
W e0 m T
[c) 75 D) 80,
e e s 3.7 85 sm AL i wm et 2
W 60" B 70
i 75 D) 80,
134. In a class of 50 students, 409 are girls. How many boys are there 7
W 20 ® 10
© 25 D} 30
50 frenid wi UF W H 40 Tgfea § WA e TER € 2
W 20 (B) 10
c 25 D) 30
135, Express as a decimal :
Rs. 8725 + Rs, 2:30 .1_[ 0-45 - Rs. | m]
Rs. 12.67 - Rs. 476 _ 10 E‘E 533
(Al Rs. 410 (8] Rs. 3.75
@ Rs: 530 (D) Rs, 580.
ZHEEE o R
47.25%s + 2.30%0 30.45 %o -12::&]
1Z.67%0 - 4.76%0 1‘0 9.58%0 - 63370
(A  4-10% B 375%:

'C)  530%e D) 5-80% 1
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136,

137.

138,

139.

140,

Fill in the blank :

0-00187 % ..ocourerenn = 18.7.

w100 (B 1000

[C1 10000 () 100000,
000187 % wovvrurrrens = 187

w100 B 1000

[ 10000 D) 100000.
Subtract giving the answer in kg,

4317 g from 23 kg

W 19-683 kg (B] 1B.3B3 kg
€] 19-383 kg ) 18683 kg.
wereR faEm o a9 Hifay .

a2afEm @ 4317 MW

W 19-683 fEm B 18-383 f&m
iC) 19-383fEm i) 18-683fFm |
A 4-85 m long pole is divided into 5 equal parts. What is the length of each part ?
W 085m (B] 097 m

) 095 m o 092 m

wE 4-85H o wHh w5 wer gl F fafe few oo & sl um wt ward o oeed 2
Ay O-85 (Bl 0974

i) 095 (D) o9z
What Is the value of 2x3 (f x=5 7

) 225 Bl 250

iIc1 125 (D) 150.
ZxPE HA F B AE x =57

W 225 (B] 250

<y 125 ()  160.

What is the square of 0-02 7

W 0-0004 B 0-004

iy 004 o 04,

o0z A k2 .

B 00004 (B]  0-004

1 004 D 0-4.




UPTET{Teacher Eligibility Testmmmmmmﬂg HYu

141. ;

142.

143,

144,

g is a/an .. fraction.

A} proper (B) improper
IC) mixed M unlike.
g O s i &

i 3w B) A
) fosm D) e

A post has one-filth of its length in the mud, one half in the water and the resi of it
10 1t in length 1s out of the water. What is the whole length of the post ?

A\ 266 B) 33ft4in
© 361t D) 37ft9mn
o e L e A, s W e 99 10 W 9 e o  ww d ) w
‘i;fra‘#rfw?? -
W 269w eTm B 33wzafw
) 36%R D) a7 %z gfa )
Choose the option that is arranged in descending order
@ 22 0 8 m 3. 2 23
4'3°16' 12 12'16'3' 4
o 3415 o %531
FEE #n = ey gfm
w 3155 o 5l
© 3533 © & 1535
Whal is the least fraction which when subiracted from 4% —Eg

result a whole number 7

- ll;—]wﬂlma];:the

w 3 Bl é
© o 3.
ﬂwhwifwﬁa%-%gul%#mﬁwwmmErn?
w3 B &

1 1
IC) 7 D) g
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145. Simplify the following :

(3 0)

L B 6

iy 10 a2,

=1 =1 T FiEn

1 1%.f1 1
(33 (1)
1

L m 6

[y 10 o 1z,
146. How many prime numbers are less than 25 ?

A 5 B 7

iy 8 m 9.

25 # w8 A HeEn, et § 7

A & 1=/ I—

< 8 o 9.
147. The largest number that divides 99, 132 and 165 without a remainder is

@3 B 11

i 15 o) 33

forn wré dreEm & 00, 1320 165 W T Hemen v den #

w3 m 11

)y 16 M 33
148. What 1z the HCF of 24, 12, 36 and 60 ?

A 4 ™ 6

<y 12 o 24,

24, 12, 3679 60 F WeHe FE ?

w4 B o

12 oy 24,

148, Three search lights flash at intervals of 200 5, 30 s and 45 5. The time between two
simultanecus Nashes s

i 5s [E& 80 s

() 120 & 180 s.

3 wdemge 209, 30 9 o= 45#%%?11133‘!&? 1 51 g 2T & offe o w

A 549 B =09

i 1209 (o 1809 |
150. What Is the LCM of 10. 15 and 20 ?

i 60 By 40

< 30 Dy 20,

10, 15685 20 % FoHe ¥ § 7

(A 80 Bl 40

<) 30 oy 20,

OR [/ MEET
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a1.

82,

93,

4.

SECTION - II(b) ~ W - III{b)
SOCIAL STUDIES / HTHITAe, s7eqa-

There are 60 gquestions in all in this Section, All questions are compulsory.
™ v # FE o wE ¥ 1 Wit v afErd €

King Harshavardhand's capital was at

(A Prayag (B] Kannau

[C] Ujjain (D] Pataliputra.
T wehads = e o

(ay  wEm B FHE

fcy T= D) wRfEgE |
Hailash temple at Ellora was built by the

(&) Chalukyas [B) Cholas

{C) Pallavas (D) Rashtrakutas.
T w1 Fem e = Fem fFm o @

W e g (B) i g

(C) el EW (D) TEFA 7
How many wings does a village panchayat have ?

w1 B 2

c 3 D 4.

T e e e ¥ ?

W 1 m 2

< 3 D] 4.

The head of a Municipal Committee is known as

(4 Councillor (B) Mayor

(C) Collector (D) Chairperson.
TR FHL F w9 FEer §

W e B\ W
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a5.

6.

a87.

as.

99,

The village court is called

Nyaya Panchayat
Gram Adalat.

Y T
e =

2H
26.

28
26,

Shankaracharya
Raja Rammohan Roy.

wieTrard
I[N TFHEA T

Prime Minister
Vice-President.
TS
FuTeafa |

Bindusara

Pushyamitra.

(A  Gram Sabha B)
(C)] Gram Panchayat (D)
WA A e ¥

A TmEwW B)
) om s {B]]
How many states does India have 7

n 29 Bl
c 27 (D)
o H T =t gen e g 7

i 20 B
cy 2y )
Who founded the Arya Samaj ?

&) Swami Dayanand =)
[C) Swami Vivekananda D)
s wwrE W v fewd fem o 7

) e T m)
[c) =t fJEwe= (D)
On whose advice is the State Council of Ministers appointed 7
)  Governor (B
(C) President (D)
frad weme vt o sifafoes = g Bt & 2

&) T (121]
iC) Tgwfa (D)
Who was the founder of the Mauryan empire ¥
(A}  Ashoka (E)
([C) Chandragupta )
o amr = deTw S o 2

(EVI i g (B)

IC} ==TR )

T=E |
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104).

101.

102.

103,

104,

Fa Hien visited India during the reign of

[ Harshavardhana (B Ashoka

[C) Chandragupta I (@ none of them,
FEA fHaE W § 2E W % g e o 7

Al wiEdR [B) w¥irE

(C) = R (D) w @ W T
Which state was the first to establish the Panchayati Raj institutions ?
(4  Rajasthan (B) Maharashtra
(C) Bihar (D Uttar Pradesh.
eradl T dens = faefe wdvam fEm oo S fEm o 7

A T B) ¥ERTE

() fagm (D) T W )

Constilutional Government means

i) Govt. according to the terms of the constitution
(B Gowvt. based on the rule of law

IC) Democratic govi.

D) all of these.

A woRn W owd #

(a) il el % aemER wTER (B) W ¥ HTER R
() wrwaifys qrEn D) e Awd
“Panchsheel” was signed between

Al Nehru and Chou En-lai @ Nehru and Mandela
{C) Gandhi and Chou En-lal (D  Gandhi and Mandela,
‘dufte’ W wEE gE W

) Aew s = ue-ee % A B) “eE s dden ¥ &=
o it o < we-eE & e (D) i s wiEen & <

When was the Cnnat:it'uuan of India finally signed by the members of the Constituent
Assembly 7

[4)  26th Novemnber, 1949 B} 24th January, 1950
C)  26th January, 1950 (D)  28th February, 1950.
HiAUE B . TS g0 I F SEE W AT § e eEneE g o 7

) 26 EW, 1949 B 24 WAL, 1950

[C] 26 9T, 1950 D) 28 %ad, 1950,
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105. Who was the head of the Constituent Assembly 7

A B.R. Ambedkar Bl B.MN. Rao
(] J.L. Nehru () WV, Patel,
HiguE |5 =1 WA i | 7
A} Ao He IFA=EHT (B HieTHAe @
(C)] Toume e (3 =fe 928
106, The anclent name of Assam iz
A} Pawa B Kamrup
[T}  Pippalivan (D)  Ramgram.
ey = urHE Am &
g B) HHEY
c) o= D) T
107. DMiwara temples arc cxamples of
(A Jain architecture M) Buddhist architecture
(C1  Mughal architecture (D) Sultanate architecture.
feerarer H@fer e §
(a) 9 T W B) wig T ¥
Cy  HTE e ¥ D) Foo-a T W%
108. Chanakya was also known as
Al Bhattasvamin (1£]] Rajsekhara
c) Vishnugupta (¥ Visakhadatta.
=g &1 Tew am |4 i e s & 2
A Wz B T
€ fEwrm D) fowmEEs |
109, Who is NOT associated with medicine 7
{4 Dhanvantari (B] Bhaskaracharya
1) Charaka (D] Susrula.
afafy A froem w=y = & 2
(A we (B) ERT=TH
) =% (DY HFET 1
110. The President of India can be removed from his/her office by the
(L] Primme Minister B Supreme Court
iC)  Chief Election Commissioner (@ Parllament.
WTTE o TEYTT #1350 wrEierg | wer wm ww &
A} wurEEE gE (B) F==90 == g

(C) W@ g9E #gw 8 (D) ¥es AT |
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112.

113.

114.

115.

. The first nuclear test in India took place in 1947, What was il called ?

Y] Shalkti | B} Tornado

[C] Chagai D)  Smiling Buddha.
A H wom i wiem 1947 9 gon @ 58 fes am @ e o & 7
(PR i B =

) wd D) E6d g0 as |
‘Shakuntalam’ was written by

A Halidas [B) Bhasa

T} Kamban D  Asvaghosha.
‘oA e

n wifeEE A B) wHH

[y =R (D) a0

In the Third Battle of Panipat, the Marathas were defeated by

&)  Mughals B Afghans

{C)  English D Sikhs,

T W e e f wal W wufim fem oo

GV U B w3

[C) sl A my fE=Eid

Who said "Swaraj is my birthright” ?

(Al Bal Gangadhar Tilak B MNetaji Subhas Chandra Bose
{C) Dadabhai Naoroji {0} Lala Lajpat Rai.
T a1 ' T Wi e 7

&) = TR e B) Fael g == 9@
(© = e (D) =N T T
Rana Sanga Is related to

A Malwa (B} Khajuraho

€l Mewar M  Mandu,

TTom wim wHEfn #

(a) T (B) o @
'c) ez A m) "gR
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116, Kanishka started the Shaka era in

() AD B2 B AD7S
() AD sz (D1  AD B8,
TF HIE B JEAR FAw 3w )
(W s2fd B 78fad
0 8294 W), 88¥sd |
117. Whe was the first British Governor-General of India 7
{4 Dalhousie (Bl Hastings
21 Clive (D] Canning.
i # v fafon e s 4 2
W TEErEt B B
ic) e D) &
118. The British invasion of which area led Lo the Sepoy Mutiny ?
&)  Oudh (B) Bengal
iC]  Mysore @ Delhi,
fm &9 9 sivty smew % www e fade gan o 7
[TV L (B) wTrA
(oI 3 o) faeedt
118, On independence India became a dominion. In which year did the dominion status
end 7
A 1947 B 1948
Iy 18948 2 1950
A ¥R WA O e S T | o we e e gan 2
w1947 % B 1948%
i) 19q9d D} 19507% |
120. Who was the last Governar-General of independent India ?
A} Moumtbatten B) C. Rajagopalachari
IC)  Sardar Patel D] Jawaharlal Nehru,
= wa F s e e Fm g
A AETEEE {B) Hte TS

) w7 w2 D) TS T
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121.

122.

123.

124,

125,

Who was the writer of Mahabharata ?

(A Kaldas (B) Vedavyas

€} Tulsidas (D) Kautilya.

TEEA F HEw w8 7

() =ifeEE (@) HEEE

) erEE (o) wifeEa

who bullt the Red Fort 2

(A} Sher Shah (8] Humayun

(C) Akbar (D) Shah Jahan.
e Taen = Tmtm ffan T = 27

TR s ® T

Q) e (D) el |

Who was the first President of India ? "

{A)  Dr. Rajendra Prasad B) Dr.S. Radhakrishnan
C} Zakir Hussaln (D) Jawaharlal Nehru,
aven % wem g w4 2

(A Ele TEE TR (B) ®io WHe WHIFE
(c) fET g (D) wETETEnE AEE |
In whose memory was the Taj Mahal built #

Ay Noor Jehan B Anarkali

(C) Mumtaz Mahal (D} Shah Jahan.
srrEs = Profo feod e J fm o ?

TR o L] (B) STEH

() A WES (o) wwewEl |

Which religion has 24 great teachers called Tirthankaras 7

{A)  Hinduism (B) Sikhism

{C) Jainism (D) Buddhism.
fomr e # e & M A 24 e A € 7

W feg B Tawa wi

() o D) =@ wd
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126.

127

128.

129.

130,

Gautam Buddha preached his first sermon at

A Prayag (B}
IC) Gaya D)
Tt gz ween waws fid 4

A I H B
() v (D)
Who was the last Mauryan ruler 7

(%  Bindusara B
() Devavarman (D)
FHfow Wi v W o 7

W FagEm )
(C) EmEda D)
Ancient Rome became a republic in

A 6ith century BC [12]]
T}  1st century AD (D
wreits IR W o gan P

o wd o B
(€ 1w fuet (D)
The script of the Indus Valley Civilization 1s

A} undeciphered B}
IC) Perslan (D)
foy =t e w1 fafn &

(A)  smETHg (B)
C) e )
The Harappans did not know the use of

A Gold (B}
C) Iron D)
TEO & w7 WHT TN T W |

(A EE B
() wmwm D)

Lummibind
Samath.

e §

g o |

Chandragupla Maurya
Brihadratha.

= g
qERY |

drd century BC
2nd century AD.

et o fat el
27 = fet
Sanskrit
Dravidian.

e
wfes |

Sihver
Bronze.

=t =7
IS ] |
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131.

132,

133.

134.

135.

Which animal is the attraction in Kaziranga National Park, Assam 7

&)  Rhinoceros (B8] Lion

[y Tiger (D} Bear.

s B T AgeE T s 7 e € 7

o= |\

) == (15 B B

Onee a French coleny, which place is the home of Aurcbinde Ashram ?
&) Chennal =) Andamans

€} Pondicherry () Goa.

e T W fae wwa W e S @, ara sfere anem w Afaw ¥, WA oW E ?
PV B) 3T

(© wfoEEd (D) i

Bombay High refers to

(& offshore ofl fleld B onshore ofl fleld
iC}) offshore gas field D} onshore gas field.
el gt wefifn #

() FwEdE A A (B Tl aw @AW
() srawe @ Em A (o) wead fEEEA
Which of the following became the 26th State of India 7

A} Uttaranchal {8l Jharkhand

) Goa (D) Chhatusgarh.
e W sdraal oo e § A wm 2

@) IS B e

[y i D) TEETE |

Which of the following rivers does not originate in India ?

[N Kaverl B Narmada

[(C) PBrahmaputra (D Ganga.

frer i © W T o I W A T R 7

W FER B =

(C) WErE (D] W |




UPTET{Teacher Eligibility Testﬂlﬁwm?m:ﬁﬂ HYu

136.

137.

138.

140,

Which is India's longest river ?
A Godavar ) Krishna
i<l Mahanadi (I3} Ganga.
wrn W gees St wE # 2
) T ® F=n
icy  wETEEr (D) Tm o
What is the time difference between GMT and IST #?
(A 4 hrs 30 min (B) 5 hrs 30 min
<) 6 hrs (3} 6 hras 30 min.
drafa= wien Ty "9y St T W S S womtes e g 7
N 4 30 fim= B) 5w 30 =
) e (D) &2 30 fiz
Which of the following geographical features is not found in India ?
() Lagoon B} Glacier
iy leeberg D} Desert.
o= A Sy arefa v & 9 o el & 2
(A HHE O B fea
) fred= D) wEEEE |
. How many oceans touch the Indian mainland 7
A (8] (B} 1
i) 2 3.
vt e gum F feed gererr foea @ 2
[N 0 B 1
0 2 m 3.
In which state is Silent Valley located ?
A . Maharashtra (L3) Kerala
() Uttarakhand (3] Kamataka.
gdve dvht frm oo o feem & 2
) HETOE B FIE

([C] SerEve (D) wRAfew
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i41.

142.

143.

1dd.

145.

Banana and pineapples arc mainly grown in the

() Tropical reglon (B  Mediterranean reglon
() Mountalns (D Deszert oases.

3o i SR e T E

() e i sl i @ e &6 L]

) e i A S I

which is the group of languages spolken by the largest number of people in India ?
A Incdo-Aryan (B Dravidian

()] Austro-Asiatic o  Sine-Tibetan.

et A frm o =1 WM & v TR wtue wm wen ¥ 7

() s s m s

o = it (o) < fr o

Which of the following are twin clties 7

4 Delhi and Faridabad (B Mumbai and Pune

|©) Bangalore and Mysare D) Hyderabad and Secunderabad.
A s gEm T ?

() Fresh aw wiremEm @ e e g

oy s a AT o) e e feserEn |
The largest amount of galfron comes from

(A} Uttar Pradesh (B Jammu and Kashmir
[C) Kerala D} Assam.

iy s e # e T @

@ ImEEmR oy Wi @

) FEA D) wEAH |

How many languages are accepled in the Constitution of India ?

(A 15 m 20

) 22 (M 28

e % wiferam gr T v wdrga € 2

A 15 ® 20

) 22 (o) 28




UPTET{Teacher Eligibility Testﬂlﬁwm?m:ﬁﬂ HYu

146.

147.

148.

1449,

150,

The path of a planet around the sun is called its

() revolution (Bl rotation

IC)  orbit D spin

% W sin fedt sooe W At FEen § e

{8y afEEm m afiumm

() e M  w=&m |

The celestial body nearest to the earth 1s

(A) Sun (B Woon

iCl Venus () Proxima Centauri.

et 3 warl Prepzom i faos @

W B ===

iy o= ) Wi EeEd

The equator does not pass through

(&) Noerth America (B] South America

({C]  Africa I (@ any of these continenits.
A e e e §

(e sEfom A H g | =il s F | e

) wfEw § 9 s
Large salt water masses smaller than oceans are called

a)  lakes ®  islands
([} Seas () rivers.
HETERR § Trer gen e s e §

w e ® E o,
cy HE oy
An area drained by a river and its tributaries is called a
LAY basin B} canal
cl dam @) strait.
fepeft TE 3ft TR HETOS! B0 FOEE &% FEenm #

) FE R |\) &I

i) oy D) HeEEE |

D) TAE & W T A
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48 D}

INSTRUCTIONB j frlr
| Riewd carsfully and comply [ 4 7 v = W )
IMPORTANT |

En Bection-1l, candidile has to atempt the queations of Hiedi langusge compulsenity and any of the teo langaages — English or
Wy ug per Mig/her Appheatan Form.

g i, s wl " U SRR P W T A el L s om0 O Rl ORI W A W E
Erpch i d |

18 Srcticn -, it i compulsary to \pl ihe questions of Seciion (iifa) or Section [RIk| ae selected subject i Appl
uﬂ-ummﬂ:‘mmﬂﬂq’ﬁﬁummwmthhumﬁmml!ﬁhmmmwﬁﬂh
The eandidae must ensure that the Question Ropkdet Ko Tue been (lled correcily a2 the prescmbed place i the OMR Azywer Sheet,
wvipd] gl 1 T o gie O i e o e e wEs A R

Farm

Rend complkie mstructions casefully and fill the details in the OMR Answer Sheel and 31, Ho. 1 05 in the Question Boaklel, If
mﬁijwﬂ?ﬂlhmﬂuﬂ;uﬂ. a8 instruried correctly, you will be personally resporsible for the conssquences ansing during
scarming of your ul
Fatail ) 5ot = 4 shr opm i o geiw | @ 5 me A g 1%t gty sy v v il o feerss ol pe——
w7 ¥ 7 omm W2 © wHE miﬁﬁlﬁ@i#ﬂh#ﬁ#ﬂtﬁi
OMR Arwaer Shest Mo should be writteh in the space prowided is the Question Books
omm W W U e W w e By we o P ek ol
The Gusstion mhWBﬂmeulmm%MMmmhmkmw.hwﬂhrﬂ
open the iusitien Booklel seal wiytther the conbaing 150 questions starting froes Page Fo. F o 48
e T 4 an g 130 W F ) wih B fed o % e o e W 9w T g w e o e 4
w0 W B o1 e oger s 2 9 e wer an o B

i (pusstions| type. There i only 6 COTELE ARSWeT 10 Sach qUESEN CRITYING ome

T e w3 e e 1 e B e e 8 vt i sy 1 s ik v she o kb
i adny ;;tm ol .%nu“phe in any question/s, candidates will not be penalieed  Hewever no cormeclons will be made in

P i o b o & 00 e ) e e v i ol i) e o e e o oot v o s ) ey
Fowgh work, if any, may be done in the Question Bookiet only in the space provided at the end of the Booklet. Do not fear o off

drean e i Plooklet, N sl whill be :
Hmﬁﬂﬁmﬁfnﬁlmmglﬂm # ot v Farsh v w1 i o e = T T
Use ef Log teblea, Caleulator, Slide rabe, Mokile phons, Fager, Digital diary or any other slectrems iem [ insirumens e, s nat
aliowed. Thew use will result im disqualification.

oim T v, e e, e, el o e a e W w9 W o aie b s
wat & il W s e T om e ki

OMR Anwerer Sheet in Lo wrill be previded sap Iy aden g wiith the Question Reoklet

i wfit s o, ¥, e SfEre o s o T Sl b !

Adter Cruration Beslglet w1 baued i the candadatr, the cardidate fill in all the entries in (e Queston Bockiet and ONR
Amwywer Bheet. After the Queetion Becller seal is opened by the icdabe, hafalse should epmuare that any page/question s ot
rusaing | net printed [ teen [ sepeated. In case you find aay anywhere in the Question Teokle!, wasnedianehy imform the
Irrsigdltor &nd get i replaced by the Invigilsor, '

et 1 73 e o 4§ 9, ) e o T o 4w ) o o e
wmmuﬂd‘qﬁhmﬂhmﬂhﬁﬁmwhﬁmgﬂihﬁﬁhmﬂ = o
e A T v v e W g T T R A e e ) g e dh o e o ol e A

Write your Questaon Bookdet Mo., Roll Me., OME Anywer Sheet Ho., Queasion Booklet Code, Rasm arsl pul yous Signalure in the
wpieee provided in the Cuestiwm Bookle A well as 0 the OMR Anawer Sheel
mﬁwranﬂznmmumﬁemﬁ,thw_q-#m.mi#mﬂt,wﬂ:}ﬂmdl
mlh“hqmnnnm-mmlwmmﬂhjmmlﬂlﬁ.ﬂ.ClD.N!utﬂmuuhmmhujnmlmﬂ
vt whish aFewer, aocording to you is oorrect. Indicale gour answer by darkenang (he Appropriac: arcle compizicl a0 the SRR
Anwwer Sheet corresponding te the quesiion. For marking answers uss back balipart pen anly. ; i
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SBECTION -I /¥ -1
PEDAGOGY / Terymymmea
There are 30 questions in all in this Section. All questions are compulsary,
wm o # g sowrE ¥ wdt e wferd ®

1, Authoritarian level tesching is

W  teacher eentred M chikd centred
IC) headmaster centred (D) experience based.
faw = AR w
o Tous S=m B B FEa
i warmeres A I = &

2. Character 18 developed by
Ay will power (B) conduct and behaviour
€ momility D} all of these.
=afta w foewmm ¥ % i
Wyl o (8) wain T =EER B
i) wwm gm o PEAwR

4.  Which of the following 1s not a level of teaching-learning ?
(%  Differentintion level B Memory level
€} Reflctive level (M Understanding level.
fra 4 @ o - s oW & 7
w  faiE ® wh =
c) feEEwE = D =5E &

4. If a student is too shy Lo participate in class, you will
(& not ask questions from him
[B) ask only those questions from him whose answers can be given by him
[C) not ask those questions whose answers are beyond his means due to which he
may become an object of ridicule in the class
[0} ask questions from him only when he is keen to answer those.
e e forenedf W & s B3 @ whwre W & @ s
A TEE T
@ o el i T wg o #, e a vl W opi
i nﬂ?wﬂﬂﬂ“mnﬁﬁﬂmthﬂmwmﬂmmm
Lal
D) TER R T T W A e T 2§ feg wafim w
%.  Teacher behaviour ought to be |

(A administrative (B instructive
{C)  sdealistic M directive.
fanE = TAfE EE e

A T | fmmwe

C)  =Erad (o) Pewmeas
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10.

11,

Girl's education should be given priority because

ia)  girls are more intelligent than boys

(B)  glrls are less in number than boys

{C)  girls were badly diseriminated against Iin the past

) enly girls are capable of leading a social change.

=ferm fen =1 Tem & 3fam & ®ww

W wferend wersT | sfus gfowh §

B fernd el A sevdes §

) =i d el = g e 4@ fadfs fea oo

) Feedh wrfeas wfada & e § Sae aifeend aud £

The success of integrated education depends on

14)  the support of community Bl excellence of textbooks
[C)  quality of teaching-learning material (D}  attitudinal change in teachers.
wrf=m fnen 1w fi o §

1A EEE & R (B] TETIETH W1 TEEM T

ic)  foem sfiem s =1 e w ) Foent § sfvefom e w
The best remedy for a student's problems related with leaming is

(A)  suggestion for hard work B  supervised study in lbrary
IC}  suggestion for private tuition X dagnostic teaching.

e % wifum fae) faard +1 wrensil =1 g srem qan ¢

W wER e = ogEm B e d Frifin e

) Tft T = o D) TEres faaw

A teacher can motivale studenis by

) giving prizes’ [B)  giving proper guidance

[T} giving examples (D) delivering speeches in class.
oF e frenfdeli = st = e #

(A o e B) = arizys s

[C) 2Emeew 37 (D) & v e g

If a student does not pay respect 1o you, then you will :

A ignore him B)  award less marks if exam.
iC)  talk to his parents @ rebuke him.

oz w1 farens A wem = w5 s

W FEER ThE RO (B) witen # ww shw 43

C)  F0% whnET 7 w9 w0 o |

Development of human values which are tniversal in nature means

A mdoctrination (B) adoption

IC)  mmitation (D) manifestation.

=rEts gel W wln o oefas & % e o o #

) TEETm (B) aitsT

i) sgEm (D shysts
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12, In erder (0 understand his students, a teacher should be wrll-versed in

13.

15.

16.

A child psyehology
(B} Inclination towards understanding children
IC]  oplnions of students towards the subject matter

D1 all of these.
s foraafifel s & o o v # st wet E i
W wE i B = w1 waw vt @

(©)  favs wy ¥ e Pl 3w D) AW
In which of the following stages do children become active members of their peer
group ?

) Adulescence B  Adulthood
€] Early childhood @ Childhood.
T A 8 A v o e el ¥ e wrem B 2

) FEaEEEn B) =R
[C] v =earrEn D) SrmEeE |

Mind mapplng refers 1o

W alevhnigue to enhance comprehension
Bl & plan of setion for an adventure

IC)  drawing the picture of a mind

D) researching the functioning of the mind.

TR w1 wHEd #

N ST ¥ AR W v e B wfem 9 w6 F o
Il ™ = fam ey D) W % 7 = 5=
Which of the following 1s not considered as a slgn of “betng gifted" 7

(4 Creatlvity in ideas (B] Fighting with others

[C)  Novelty in expression D) Curiosity.

W R w fe P A A

W feErT § e B gEi i ey e

0 sfieste & s i FqEe

A normal 12-year old child 1s mosi likely to

W have dilficulty with gross moter coordination
B have anxiety feelings about peasing adults
iC}  ronfine his/her interests 1o the here and now
DY be eager for peer approval.

oF w12 T ¥ oaed F wed wirs o dug B
) Fa W ey § wfe

(B) ol = gn w5 ¥ A Y gfeem 5t ey

IC) o i ol @ 3ot wfelf =% witfim 5o

D) Tt & wgeea % fo 39 |
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17.

18.

MEMWII}'HudmIﬁﬂm&waj‘ﬁﬂmadmﬂlh

W lack of mterest in class teaching

(B lack of interest in studies on the part of students

() not giving punishments to students

3 callous atlitude of eachers wowands the problem.

e farmnfea] %1 v 33 @ T @

W e Faem F #fa w e

@ famfda o d 59w A

¢ fafeidf = ave i &0

(D) e ¥ e favt %1 fg et

In order to develop the spirit of labour in students

A} the teacher himsell should indulge in labour

(B] the teacher should deliver lectures on the importance of labour

{C) students should be given opportunities to do labour from time (o lime

D) students should be given examples of people who labour.

foranfis & W %1 TR 1 faww w0 fn

W Few w @ o vghe fommm

(B) e om i e TEEER w00

() T-w w P ® am A

(D) forid w1 am v A S e e

Child development s defined as a field of study that

{A] examines change in human abilities

iB) secks lo explain behaviour across lifespan

{C)  compares children o adulls to senor dleens

D) accounts for the gradual evolution of a childs cognitive. social and other
capacities.

= fFm &1 oftym = sngm i @

& o amed § ot | v wT #

(g e s ¥ e e e i

) T F w3 IS i & g

o Fordl ) 1 T, ST v g e ) wfs far ¥ e T @ o

Knowledge of child paychology is a must for a primary leacher, because

(4 it helps in making children disciplined

{B] the examination result is improved

[C) it becomes a convenlent mode for metivating children

@ it helps the teacher in understanding the behaviour of children.

rafives s 3 Forg, e wrifece W1 91 s 8, W

() e W w1 st R § g &

B vt ¥ wfem § gefa o b

(€) T wi B s wd & f g wiw o am

M) 7 T & srmw ) wwa A s =t wemm wm d
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21.

22,

23.

24.

25.

In order to modify the undestrable behaviour of a student the most efective method is
(&)  to punish the student

(B) tio bring it to the notice of the parents

) to find owut the reasons for the undeatrable behaviour and provide remedies

) 1o ignore it

foemd # sifisn soaER ®1 e siad & § 5@ v o §

(W forenedi % g d

m s F e F e

[C) omifon sEen & HEt ® {90 T4 TUEH 5 T W

(D) o T F

Some students send a greeting card to you on Teacher's Day. What will you do ® You
will

(%) donothing Bl say thanks to them

IC] ask them not (o waste money D reciprocate the good wishes to them.
st fawss fomm woww Tl 3w o S B ) s e w00 2 A

W T TE w0 | T e

(€ = U wh wld o s F A o) o v F e $
When a student fails, It can be understood that

{4  the system has failed =]

IC)  the textbooks are a faflure o
w7 7F el smem wm ¥ o) wwm wm & B

the teacher is a fallure
it is the individual's fadlure,

A e s B frer e

(C]  TEayETE s § o oF dufew saEEm #
The most important trait of a student is

A sense of responsthility B} honesty

(€} cooperation ¥ obedience.

fewedt Tl &1 e wrvergof fadeen

A FwEfem w sy B

) wEwfirm o) - smRtE o

You are teaching in class and a student asks a question unrelated to the topic. What
will you do 7

A Allow him to ask unrelated questions

(Bl  Notallow him to ask any unrelated questions

(O} Consider it as indiscipline and punish him

(D  Answer the question after class,

3 foet o # S AT € o feredf frew @ orag T W oW ¥ | o W w6 7
[ T AW W A W s E (B) 9 swoag W g w0 A o E
0 78 gl aume ofvan = (D) &0 & = W o E e
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